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Popular and generally well done A common error in (a) was to forget the effect of the .
pressure angle on calculating the bearing forces although this did not change the recommended SKF ' 3

~ component. Not many candidates actually evaluated the change in bearing loads brought about by
rearranging the gears in part (c).
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Popular and generally well done. The most common error in part b(u) was to assume that

the ICE can operate at its absolute minimum SFC which is not compatible with the required engine
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Bringing the rotation rate of the centres of the balls to zero makes working out spin rates
much easier. Most solutions ran out of steam before part b (ii).

~ Simply saying that an involute is the locus traced out by a taught string unwound from a

circular cylinder is not enough for (a). Part b(i) was well done — some errors in ‘b(ii) working out
' the effective radius of curvature when applying Hertz.







